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QUESTION 1

An administrator needs to protect new resources added to a server in the future and ensure they will be automatically
included in the backup jobs.

How should the administrator achieve dynamic inclusion?

A. check the box next to the server name in the backup selections

B. check the job option for dynamic inclusion

C. check the job configuration for manual inclusions/exclusions

D. enable the option to Discover Data to Back Up in Backup Exec Settings

Correct Answer: A

QUESTION 2

Which statement is correct about configuring OpenDedupe storage?

A. OpenDedupe must be shared in CAS-MBES scenario to get a better deduplication ratio.
B. Multiple Backup Exec servers can use the same cloud container with OpenDedupe.

C. OpenDedupe is supported on Windows Server 2012 R2 or above.

D. OpenDedupe can be configured directly from the Backup Exec console.

Correct Answer: D

QUESTION 3

An administrator has a vCenter server containing 3 VMware hosts running a total of 25 virtual machines. Each host has
2 Quad-Core CPU sockets.

How many V-Ray licenses does the environment require?

A. 1 V-Ray license is necessary; one for each vCenter server

B. 3 V-Ray licenses are necessary; one for each host

C. 6 V-Ray licenses are necessary; one for each CPU socket

D. 8 V-Ray licenses are necessary per host; one for each logical processor

Correct Answer: C

QUESTION 4
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Which condition can cause a cleaning job to fail?
A. library automatic cleaning function is disabled

B. cleaning job schedule conflicts with a backup job
C. a cleaning slot remains undefined for library

D. a cleaning Tape Alert flag remains unraised

Correct Answer: C

QUESTION 5

In which two circumstances will the overwrite protection period for a tape begin? (Choose two.)
A. at the start time of an overwrite job (if there are no appends)

B. at the end time of an overwrite job (if there are no appends)

C. at the start time of the last append operation on a media

D. at the end time of the first append operation on a media

E. at the end time of the last append operation on a media

Correct Answer: BE
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